SONGE 1S

A scale pan is suspended from a fixed point P by a light
elastic spring. A particle Q of mass 0.2 kg is attached to the
pan with glue. The pan is pulled down from its equilibrium
position and set in motion. Given that the motion of Q is
simple harmonic, with period % seconds and that the maximum
and minimum distances of Q below P are 1.5 m and 0.9 m,

respectively, calculate

(i) the maximum speed of Q.
(i) the maximum force that the glue

Q would leave the pan.

e

(iii) the length of the spring, when, in the absence of glue,

has to exert on Q.
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